	dxf;+3af6 ;'g l;kml/; ePsf lhNnf÷gu/ ;+3x? tyf Pzf]l;o6 ;b:o

	 
	ldlt M @)&%÷)*÷)! b]lv @)&%÷!!÷#) ut] ;Dd
	 

	qm=;=
	lhNnf÷gu/ ;+3x?
	kl/df0f÷s]=hL

	k|b]z g+ !

	1
	g]kfn ;'gr“fbL Joj;foL ;+3 la/f6gu/, df]/ª
	22

	2
	df]/ª ;'gr“fbL Joj;foL ;+3, pnf{af/L
	14

	3
	g]kfn ;'gr“fbL Joj;foL ;+3, emfkf, latf{df]8
	23

	4
	;'gr“fbL Joj;foL ;+3, bds, emfkf 
	18

	5
	;'g;/L ;'gr“fbL Joj;foL ;+3
	39

	6
	k"jf{~rn ;'gr“fbL Joj;foL ;+3, O{6x/L
	13

	7
	pbok'/ ;'gr“fbL Joj;foL ;+3
	9

	8
	cf]vn9'·f ;'gr“fbL Joj;foL ;+3 
	1

	9
	g]kfn ;'gr“fbL Joj;foL ;+3, ef]hk'/ 
	0

	10
	;'gr“fbL Joj;foL ;+3, Onfd 
	0

	11
	;+v'jf;ef ;'gr“fbL Joj;foL ;+3
	4

	 
	hDdf
	143  kg.

	k|b]z g+= @

	1
	l;/xf ;'gr“fbL Joj;foL ;+3
	29

	2
	nxfg ;'gr“fbL Joj;foL ;+3, l;/xf
	3

	3
	;Kt/L ;'gr“fbL Joj;foL ;+3 
	8

	4
	g]kfn ;'gr“fbL Joj;foL ;+3, dxf]Q/L 
	11

	5
	af/f ;'gr“fbL Joj;foL ;+3
	44

	6
	k;f{ ;'gr“fbL Joj;foL ;+3
	26

	7
	/f}txt ;'gr“fbL Joj;foL ;+3
	11

	8
	;'gr“fbL Joj;foL ;+3, dn+ujf ;nf{xL
	6

	9
	wg'iff ;'gr“fbL Joj;foL ;+3 
	6

	 
	hDdf
	 144 kg.

	k|b]z g+= #

	1
	g]kfn ;'gr“fbL Joj;foL ;+3, s]Gb|
	0

	2
	sf7df8f} ;'gr“fbL Joj;foL ;+3
	280

	3
	nlntk'/ ;'gr“fbL Joj;foL ;+3
	82

	4
	eQmk'/ ;'gr“fbL Joj;foL ;+3
	51

	5
	sfe|] ;'gr“fbL Joj;foL ;+3
	52

	6
	l;Gw'kfNrf]s ;'gr“fbL Joj;foL ;+3
	9

	7
	g'jfsf]6 ;'gr“fbL Joj;foL ;+3
	13

	8
	lrtjg ;'gr“fbL Joj;foL ;+3 
	83

	9
	l;Gw'nL ;'gr“fbL Joj;foL ;+3 
	0

	10
	dsjfgk'/ ;'grf“bL Joj;foL ;+3
	44

	 
	hDdf
	614 kg.

	k|b]z g+= $

	1
	uf]/vf ;'gr“fbL Joj;foL ;+3
	5

	2
	ndh'ª ;'gr“fbL Joj;foL ;+3 
	9

	3
	tgx'“ ;'gr“fbL Joj;foL ;+3
	31

	4
	;'gr“fbL Joj;foL ;+3, sf:sL
	82

	5
	kj{t ;'gr“fbL Joj;foL ;+3
	3

	6
	;'gr“fbL Joj;foL ;+3, :of\·hf
	5

	7
	DofUbL ;'gr“fbL Joj;foL ;+3
	6

	8
	afun'ª ;'gr“fbL Joj;foL ;+3
	1

	9
	gjnk'/ ;'gr“fbL Joj;foL ;+3
	15

	 
	hDdf
	157 kg.

	k|b]z g+= %

	1
	?kGb]xL ;'gr“fbL Joj;foL ;+3 
	82

	2
	gjnk/f;L ;'gr“fbL Joj;foL ;+3
	21

	3
	kfNkf ;'gr“fbL Joj;foL ;+3
	9

	4
	slknj:t', tf}lnxjf ;'gr“fbL Joj;foL ;+3
	2

	5
	af0fu+uf ;'gr“fbL Joj;foL ;+3, hLtk'/, slknj:t'
	5

	6
	c3f{vf“rL ;'gr“fbL Joj;foL ;+3 
	4

	7
	u'NdL ;'gr“fbL Joj;foL ;+3 
	0

	8
	g]kfn ;'gr“fbL Joj;foL ;+3, Ko"7fg 
	5

	9
	bfª, t'N;Lk'/ ;'gr“fbL Joj;foL ;ldlt
	31

	10
	g]kfn ;'gr“fbL Joj;foL ;+3, bfª, 3f]/fxL 
	17

	11
	a“fs] ;'gr“fbL tyf uxgf Joj;foL ;+3, sf]xnk'/
	21

	12
	g]kfnu+h ;'gr“fbL Joj;foL ;+3, a“fs]
	16

	13
	alb{of ;'gr“fbL Joj;foL ;+3 
	3

	 
	hDdf
	216  kg.

	k|b]z g+= ^

	1
	;'gr“fbL Joj;foL ;+3, ;'v{t
	11

	2
	;'gr“fbL Joj;foL ;ldlt, ;Nofg
	0

	 
	hDdf
	11  kg.

	k|b]z g+= &

	1
	s+rgk'/ ;'gr“fbL Joj;foL ;+3
	1

	2
	;'gr“fbL Joj;foL ;+3, s}nfnL 
	19

	3
	8f]6L ;'gr“fbL Joj;foL ;+3, lbkfon, l;nu9L
	3

	4
	cd/u9L ;'gr“fbL Joj;foL ;+3, 88]nw'/f
	6

	 
	hDdf
	 29 kg.

	 
	k|b]z ! b]lv k|b]z & ;Dd Total  (A) =
	1314  K.g.

	
	
	

	1
	Pzf]l;o6 ;b:o tkm{
	203

	 
	Total  (B) =
	203 k.g.

	
	
	

	 
	 Grand Total  (A + B) =
	1517  K.g.

	
	
	



